

A NOTE ON THE INTEGRAL REPRESENTATION
FOR THE PRODUCT OF TWO GENERALIZED
RICE POLYNOMIALS

By

H. M. SRIVASTAVA

SUMMARY: A recent formula of Manocha [4] involving the product of two generalized Rice polynomials is shown to follow immediately from more general results in the theory of generalized hypergeometric polynomials derived earlier in a joint paper of the present author [6].

1. INTRODUCTION.

In a recent paper reviewed by us for the Zentralblatt für Mathematik [189 (1970), pp. 342-343], Manocha [4, p. 268] has proved the following result (in corrected form):

$$(1.1) \quad H_m^{(\alpha, \beta)} [\xi, \phi, x] H_n^{(\gamma, \delta)} [\eta, q, y] = \frac{2^{\alpha+\gamma+m+n+p+q-2}}{\pi^3} \cdot \frac{\Gamma[\alpha+m+1] \Gamma[\gamma+n+1] \Gamma[\alpha+\beta+\gamma+\delta+m+n+2] \Gamma[\xi+\eta] \Gamma[\phi] \Gamma[q]}{\Gamma[\alpha+\gamma+m+n+1] \Gamma[\alpha+\beta+m+1] \Gamma[\gamma+\delta+n+1] \Gamma[\xi] \Gamma[\eta] \Gamma[\phi+q-1]} \\ \cdot \int_0^1 \int_0^1 \int_{-\frac{1}{2}\pi}^{\frac{1}{2}\pi} \int_{-\frac{1}{2}\pi}^{\frac{1}{2}\pi} \int_{-\frac{1}{2}\pi}^{\frac{1}{2}\pi} u^{\alpha+\beta+m} (1-u)^{\gamma+\delta+n} v^{\xi-1} (1-v)^{\eta-1} \\ \cdot \cos^{m+n} \theta \cos^{\alpha+\gamma} \phi \cos^{\phi+q-2} \psi \exp [(m-n)\theta i + (\alpha-\gamma) \phi i + (\phi-q) \psi i] \\ \cdot H_{m+n}^{(\alpha+\gamma, \beta+\delta+1)} [\xi+\eta, \phi+q-1, \{xuv e^{(\phi+\psi-\theta)i} + y(1-u)(1-v) e^{-(\phi+\psi-\theta)i}\} \\ \cdot 2 \sec \theta \cos \phi \cos \psi] d\psi d\phi d\theta dv du,$$

where $H_n^{(\alpha, \beta)} [\xi, \phi, v]$ denotes the generalized Rice polynomial defined by (see [3], p. 157)

$$(1.2) \quad H_n^{(\alpha, \beta)} [\zeta, \rho, v] = \frac{(\alpha + 1)_n}{n!} {}_3F_2 \left[\begin{matrix} -n, \alpha + \beta + n + 1, \zeta; \\ v \\ \alpha + 1, \rho; \end{matrix} \right],$$

with, as usual,

$$(\lambda)_n = \frac{\Gamma[\lambda + n]}{\Gamma[\lambda]} = \lambda(\lambda + 1)(\lambda + 2) \dots (\lambda + n - 1).$$

Note that the conditions of validity of formula (1.1), which are not stated in Manocha's paper, are $\xi > 0, \eta > 0, \alpha + \beta > -1, \gamma + \delta > -1, \alpha + \gamma > -1$, and $\rho + q > 1$. Also the polynomials $\{H_n^{(\alpha, \beta)} [\zeta, \rho, v] \mid n = 0, 1, 2, \dots\}$, whose study was initiated by Khandekar [3], would reduce to the ordinary Rice polynomials (see [5], p. 108)

$$(1.3) \quad H_n(\zeta, \rho, v) = {}_3F_2 \left[\begin{matrix} -n, n + 1, \zeta; \\ v \\ 1, \rho; \end{matrix} \right]$$

when $\alpha = \beta = 0$.

The object of the present note is to show that the formula (1.1) is indeed a very special case of our earlier multiple integral (see [6], formula (1.3)) representing the product of two different members of the class of polynomials $\{\Phi_n[z]\}$ introduced by means of the generating relation (see, e.g., [1], p. 43)

$$(1.4) \quad \sum_{n=0}^{\infty} \Phi_n \left[\begin{matrix} (a_p), \lambda; \\ z \\ (b_q); \end{matrix} \right] t^n = (1-t)^{-\lambda} {}_{p+2}F_q \left[\begin{matrix} \frac{1}{2}\lambda, \frac{1}{2}\lambda + \frac{1}{2}, (a_p); \\ (b_q); \\ -\frac{4zt}{(1-t)^2} \end{matrix} \right],$$

where, for convenience, (a_p) is taken to abbreviate the sequence of p parameters a_1, a_2, \dots, a_p , and similarly for (b_q) .

From (1.4) it follows at once that

$$(1.5) \quad \Phi_n \left[\begin{matrix} (a_p), \lambda; \\ z \\ (b_q); \end{matrix} \right] = \frac{(\lambda)_n}{n!} {}_{p+2}F_q \left[\begin{matrix} -n, \lambda + n, (a_p); \\ z \\ (b_q); \end{matrix} \right],$$

provided that the parameters are independent of n .

We remark in passing that several specialized or limiting forms of the polynomial set (1.5) occur throughout the literature. To the references given in our earlier paper [6] it would seem appropriate to add the late Professor Chaundy's paper [2] where several generating relations including (1.4) are discussed.

2. DERIVATION OF (1.1).

We recall that the main formula (1.3) in our earlier paper [6] provides for the product

$$\Phi_m \left[\begin{matrix} (a_p), \lambda; \\ x \\ (b_q) + 1; \end{matrix} \right] \Phi_n \left[\begin{matrix} (a'_p), \lambda'; \\ y \\ (b'_q) + 1; \end{matrix} \right]$$

a $(p+q+2)$ -ple integral representation involving the polynomial

$$\Phi_{m+n} \left[\begin{matrix} (a_p) + (a'_p), \lambda + \lambda'; \\ z \\ (b_q) + (b'_q) + 1; \end{matrix} \right],$$

where

$$z = \frac{2^{q-1} \cos \theta_1 \dots \cos \theta_q}{\cos \theta} \left[x u u_1 \dots u_p e^{\left(\sum_{\sigma=1}^q \theta_\sigma - \theta\right)i} + y (1-u) (1-u_1) \dots (1-u_p) e^{\left(\sum_{\sigma=1}^q \theta_\sigma - \theta\right)i} \right],$$

and $\lambda > 0, \lambda' > 0, a_\nu > 0, a'_\nu > 0, \nu = 1, 2, \dots, p, b_\sigma + b'_\sigma > -1, \sigma = 1, 2, \dots, q.$

Its special case $p = q - 1 = 1$, which would serve our purpose here, was indeed stated in our paper (see [6], formula (2.1)) in the form:

$$(2.1) \quad \Phi_m \left[\begin{matrix} a, \lambda; \\ x \\ b_1+1, b_2+1; \end{matrix} \right] \Phi_n \left[\begin{matrix} a', \lambda'; \\ y \\ b'_1+1, b'_2+1; \end{matrix} \right] =$$

$$\begin{aligned}
&= \frac{\Gamma[a+a'] \Gamma[\lambda+\lambda'] 2^{m+n+b_1+b'_1+b_2+b'_2}}{\Gamma[a] \Gamma[a'] \Gamma[\lambda] \Gamma[\lambda']} \\
&\cdot \frac{\Gamma[b_1+1] \Gamma[b'_1+1] \Gamma[b_2+1] \Gamma[b'_2+1]}{\pi^3 \Gamma[b_1+b'_1+1] \Gamma[b_2+b'_2+1]} \\
&\cdot \int_0^1 \int_0^1 \int_{-\frac{1}{2}\pi}^{\frac{1}{2}\pi} \int_{-\frac{1}{2}\pi}^{\frac{1}{2}\pi} \int_{-\frac{1}{2}\pi}^{\frac{1}{2}\pi} u^{\lambda+m-1} (1-u)^{\lambda+n-1} \\
&\cdot v^{a-1} (1-v)^{a'-1} \cos^{m+n} \theta \cos^{b_1+b'_1} \phi \cos^{b_2+b'_2} \psi \exp[(m-n)\theta i + \\
&\quad (b_1-b'_1)\phi i + (b_2-b'_2)\psi i] \\
&\cdot \Phi_{m+n} \left[\begin{matrix} a+a', \lambda+\lambda'; \\ b_1+b'_1+1, b_2+b'_2+1; \end{matrix} \left\{ xuv e^{(\phi+\psi-\theta)i} + y(1-u)(1-v)e^{-(\phi+\psi-\theta)i} \right\} \right] \\
&\quad \left. \frac{2 \cos \phi \cos \psi}{\cos \theta} \right] d\psi d\phi d\theta dv du,
\end{aligned}$$

provided $\lambda > 0$, $\lambda' > 0$, $a > 0$, $a' > 0$, $b_1+b'_1 > -1$, and $b_2+b'_2 > -1$.

Now compare (1.2) with the special case $p = q - 1 = 1$ of (1.5) to obtain the relationship

$$(2.2) \quad H_n^{(\alpha, \beta)}[\zeta, p, v] = \frac{(\alpha+1)_n}{(\alpha+\beta+1)_n} \Phi_n \left[\begin{matrix} \zeta, \alpha+\beta+1; \\ v \\ \alpha+1, p; \end{matrix} \right].$$

In view of the relationship (2.2), formula (1.1) under the aforementioned conditions would follow at once from our earlier result (2.1) when the parameters are appropriately specialized, that is, when in (2.1) we replace

- (i) a, a' by ξ, η ;
- (ii) λ, λ' by $\alpha+\beta+1, \gamma+\delta+1$;
- (iii) b_1, b'_1 by α, γ ;
- (iv) b_2, b'_2 by $p-1, q-1$;

and multiply both sides by the constant

$$\frac{(a+1)_m (\gamma+1)_n}{(\alpha+\beta+1)_m (\gamma+\delta+1)_n}.$$

REFERENCES

- [1] R. P. BOAS and R. C. BUCK, *Polynomial expansions of analytic functions* (New York: Academic Press Inc., 1964).
- [2] T. W. CHAUNDY, *An extension of hypergeometric functions*, Quart. J. Math. Oxford Ser. 14 (1943), 55-78.
- [3] P. R. KHANDEKAR, *On a generalization of Rice's polynomial - I*, Proc. Nat. Acad. Sci. India Sect. A 34 (1964), 157-162.
- [4] H. I. MANOCHA, *An integral representation for the product of two generalized Rice's polynomials*, Collectanea Math. 20 (1969), 267-270.
- [5] S. O. RICE, *Some properties of ${}_3F_2[-n, n+1, \zeta; 1, p; v]$* , Duke Math. J. 6 (1940), 108-119.
- [6] H. M. SRIVASTAVA and C. M. JOSHI, *Integral representation for the product of a class of generalized hypergeometric polynomials*, (Presented at the thirty-third annual conference of the Indian Mathematical Society at Lucknow University, India on December 28, 1967), Riv. Mat. Univ. Parma (2), in press. since October 23, 1969. For an abstract of this paper see Math. Student. 36 (1968), p. 121; see also Zentral. Math. 198 (1971), 391-392; *ibid.* 216 (1972), p. 360.

DEPARTMENT OF MATHEMATICS
UNIVERSITY OF VICTORIA
VICTORIA, BRITISH COLUMBIA
CANADA

Date communicated: June 29, 1970

